3.4.4 Statistical Skills

Averages
· There are three; mean, median and mode.  
· When calculating the mean, pupils sometimes forget to press = on their calcs and so they end up calculating the wrong mean.  You will probably need to remind them to either ‘press =’ or use the bracket keys on their calcs.
· When calculating the median a few pupils will forget to put them in order first.
· You can have one mode, two modes (bimodal) and no mode.  Pupils know what mode means but do struggle when the see the were modal.  You will need to remind them that it means the same thing!
· The averages all serve a purpose with the right set of data.  E.g. when finding the average height, the median is best used as the mean could be distorted by someone particularly tall (or short) and there could well be no mode (for obvious reasons I hope)
· I’ve hyperlinked some posters here for you to print out and display around your classroom.


Cumulative frequency
· I’ve hyperlinked a ppt for you to have a look at.  It tells you everything you need to know.
· Ask the maths dept for support if you need it when the time comes.



Calculating percentage increase and decrease
To calculate the percentage increase:
First: work out the difference (increase) between the two numbers you are comparing.
Increase = New Number - Original Number
Then:  divide the increase by the original number and multiply the answer by 100.

% increase = Increase ÷ Original Number × 100.
If your answer is a negative number then this is a percentage decrease.

To calculate percentage decrease:
First: work out the difference (decrease) between the two numbers you are comparing.
Decrease = Original Number - New Number
Then: divide the decrease by the original number and multiply the answer by 100.
% Decrease = Decrease ÷ Original Number × 100
If your answer is a negative number then this is a percentage increase.
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Bivariate data, trend lines, interpolation/extrapolation
· These are all covered in GCSE statistics which the maths dept no longer do.  You are welcome to have a statistics textbook if it helps.  I’m also happy to help plan for and/or deliver
image2.png
B )& o saomnecszominmpeen-arngsrim

File

D - & [m RM Uity -LounchPad | @ Percentage Change - P, | @ Percentageincreaseand dec..| | () 57 853

Edit View Favorites Tools Help

Take the example of “UK rainfall this summer was 23% above average” - we can tell immediately that the UK experienced almost a
quarter (25%) more rainfall than average over the summer. However, without knowing either what the average rainfall is or how
‘much rain fell over the period in question we cannot work out how much rain actually fell.

Calculating the actual rainfall for the period if the average rainfall is known.

If we know the average rainfall is 250mm then we can work out the rainfall for the period using: the sum 250 + 23%.
First work out 1% of 250, 250 + 100 = 2.5 then multiply the answer by 23, because there was a 23% increase in rainfall.
25x23=57.5.

Rainfall for the period in question was therefore 250 + 57.5 = 307.5mm.

Calculating the average rainfall if the actual amount is known.

If the news report states the new measurement and a percentage increase, “UK rainfall was 23% above average... 320mm of rain fell...".

In this example we know the total rainfall amount of 320mm, we also know that this is 23% above the average. To calculate the
average we divide the total (320) by 1.23.

320 = 1.23 = 260.1626. Rounded to one decimal place, the average rainfall is 260.2.

The difference between the average and the actual rainfall can now be calculated:
320-260.2=59.8.

We can conclude that 59.8 is 23% of the average rainfall amount (260.2), and that in real terms 59.8mm more rain than average fell.
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Customer Service Skills but often no actual data.

Listening Skills

@ Without data percentage change figures can be misleading.

Stress Management
Coaching Skills

The Importance of Ceredigion, a county in West Wales has a very low violent crime rate.

Fxerdise Police reports for Ceredigion in 2011 showed a 100% increase in viole

crime. This is a startling number, especially for those living or thinking
about moving to Ceredigion.

However, when the underlying data is examined it shows that in 2010
one violent crime was reported in Ceredigion. So an increase of 100% in
2011 meant that two violent crimes were reported.

When faced with the actual figures, perception of the amount of violent
crime in Ceredigion changes significantly.

In order to work out how much something has increased or decreased in real terms we To
need some actual data. >
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